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Counting on using a part-whole model 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
Abstract number line: 
 

 
 
 
 

 

 

 

 

 

 





 
 
 
 
 
 
 
 

 
 

  
 
 

 

 

 

 

 

 





 
fact families 
  
number bonds  
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

 
 
 

 
 
 

 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Fact Families 
 
 
___ + ___ = 7 
 
___ + ___ = 7 
 
7 - ___ =  ___ 
 
7 - ___ = ___ 
 
 
 
 



Language Concrete Pictorial Abstract 

 
 
 
 
 
 
 
 
 
 

 

 
 
 
Regrouping ten ones to make ten 
 

 

 
 
 
 
 
 
 
 

Teen numbers 
 
10 + __ = 13   
 
different combinations of bonds  for teen 
numbers 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

13 

















 
Counting back using number lines or number 
tracks 

 
 
 
 
 
 
 
 

 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 

 

 
 
 
 
 
 
 
 

 
Children may count back in ones, but may also 
choose to use their knowledge of numbers bonds 
or counting in tens to help them. 

 

 
 
 
 
 
 
 

















 

 





















 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 

 

 

 
 
 

 
 
 

 
 
 
 

 

 
 
 
 

 
 
 
 
 

 
 
 
 
 

 
 



 
 

 

 

 

 

 

 

 

 

 





 

 

 
  

 

 
 

 
 
 

12 

4 4 4 

 
 
 

 
How many ways can you make 
12 
How many ways can you share/ 
group/ divide 12 without a 
remainder 
A x B = 12 
 
What could A and B = 
 
 
 
 
 
 
 
 
 
 
 
 
 
12÷ 3=4 
12÷4=3 
 
 
 
 





 

 

120g             120g                                                   
 
 

 
 

 
 
 
 

 

Draw the rectangle 3 times 
bigger 

 

 

3x4=12 
9x12=108 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 





 

 

multiplication fact, division fact 

inverse 

square, squared 

 
 
 
 
 
 
 
 
 

 
 
 

 
 

 

 
 

 
 

12 

4 4 4 

 

                                 12 

3 3 3 3 

Etc                           

 

for  12 
A x B = 12 
 
What could A and B = 
 
How many ways can you make 
12 
How many ways can you share/ 
group/ divide 12 without a 
remainder 
A x B = 12 
 
What could A and B = 
 
Find all the factor pairs for ? 
 
12÷ 3=4 
12÷4=3 
 
Does it matter which way round 
you carry out a calculation? 
 
How can that help you?  
 
Investigate 
3x2x4= 
2x4x3 
4x3x2= 
 
What do you notice? 
How is this useful? 





 

 

 

         
 

 
 
 

120g             120g                                                   
 
 

 
 

 
 
 
 

recipe. How much do I need of 
each ingredient? 

3 eggs 
200g of flour 
120g of butter 
 

Draw the rectangle 3 times 
bigger 

 

 

3x4=12 
9x12=108 
 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

Yr 5 and 6 Division 

Na National Curriculum Program of Study Statement 

 

Divide numbers up to 4 digits by a one-digit number using the 
formal written method of short division and interpret 
remainders appropriately for the context 

Big Ideas 
 
 
 
 
 

Language Concrete Pictorial Abstract 

 
Share 
Divide 
group 
quotient 
remainder 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 



 

Year 5 and 6 Division 

NL  Long Division - a remainder in the ones 

 

 
 
 

 
 
 
 

 
 



 

Year 5 and 6 Division 

NL  Long Division - a remainder in the ones - continued 

 
 
 
 

 
 
 

 
 
 

 



 Year 5 and 6 Division 

NL  Long Division - a remainder in the tens  
 
 

 

 
 

 



 

Year 5 and 6 Division 

NL  Long Division - a remainder in any of the place values  
 
 

 
 
 



 





 

 

 
 
 
 
 
 
 
 
 
 

 

 
 
 
 

 
 
 
 
 

 
 

 



 

 

 

 

 





 

 

 





 

 

   

 
 

 

 
 

 
 
 
 
 
 
 
 
 

 Children find ¾ of a shape or number. 

 
 

Understand that 2/4 is equivalent to ½

 
 

To understand whole and parts. 

 
 

To be able to count in halves or 

quarters. 

 

 ¾ of 12 = 9 
 
 
½ of 8 = 2/4 of 8 
 
 
 
 
 
2 and a half is the same as  
 5 ½ s 
 
 
 
 
 
½, 1, 1 ½, 2, 2 ½  



 

 

 





quarter, two 
quarters, three 
quarters, one of 
four equal parts, 
one third, two 
thirds, one of 
three equal parts, 
sixths, sevenths,  

 

 
 
 

 
 
 
 
 
 
 

¼ of the children 
are wearing 
glasses 
 
2/4 or ½ the 
children have 
blond hair 
 
 
 
1/2  =  3/6 
 
 
 
 
 
½ =  /4  =  /8  =  
/16 
 
5/8  =  /16 
 
Continue fraction 
chains: 
 
¼  =  2/8  =  3/12  
 
Write these 
fractions in the 
correct order 
 
2/6     1/6       4/6 
 
 
 
 
5/10 + 3/10=8/10 
 
 
 



 

 

 
  

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
0.1, 0.2, 0.3, 
0.4.. 
 
 
 
 
 
 
2/10=0.2 
 
7/10 = 0.7 
 
 8mm = ___ cm 
 
 
8/10= 0.8 
  
½ = 5/10 = 0.5 

Problem Solving: 
 
I have 8 cakes. If 2/8 are chocolate and 3/8 are vanilla. How many are lemon? 
 
I have 12 stickers 2/3 are red. How many are blue 
 
Sarah ate 2/8 of ham pizza and 3/8 of margarita. How much did she eat all together 
 

 
 
 
 





 
  

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
Using cookery 
 
 
 
 
 
 
 
 
  
 

 
  
  
  
  
  
  
  
  
  
 
1 ÷ 10 = 1/10 
  
  
  
  
  
1 ÷ 100 = 1/100 
  
  

97/100 = 0.97 
  
  
Decimal equivalents 

 
 8/10 = 0.8 
 
 
 
½ = 5/10 = 0.5 
 
 
 

 
 
Using arrays to find 
fractions of amounts 
 
 
 
 

 
½ =  /4  =  /8  =  /16 
 
5/8  =  /16 
 
Continue fraction chains: 
 
¼  =  2/8  =  3/12  
 
 
 
Copy and complete: 
 
 7/10 =  ?/100 
 
Start at 73/100, count back 5 
hundredths. 
 
Challenge:  
Start at 57/100, count on 4 tenths. 
 
Start at 0.5, count on four 
hundredths 
 
Give the value of the underlined 
digit: 
                 2.4  =  4/10  or  0.4 
 
Give the next four terms: 
0.1   0.3   0.5   0.7 
 
Challenge: 
 8/10 + 7/100 = ?/100 = 0.87 
 
1/3 of 15 = 5 
1/5 of 15 = 3 
 
There are12 eggs in a box.  Five 
sixths are used. How many eggs 
have been used? 
5/6 of 12= (12÷6) x 5 



 
 
 
 
 
 
 

 
 
Place value slider: 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
Compare: 
 
 

 
 

 

 
 

   

      
   

   
                                 

   

   

      1/6         +           3/6      =         4/6 
 
 

 
 
Locate decimals on a number line to help 
rounding to the nearest whole number. 
 
 
 
 
  
 
 
  
 
And comparing of 
decimals. 
  
  

              =   2 x 5 
              =  10 
10 eggs have been used. 
 
   8/12  +  3/12  =  11/12 
 
    8/9 -    /      =  6/9 
 
     ?   -   3/5   =  3/5 
 
 
  47 ÷ 10 = 4.7 
 
  53 ÷ 100 =  0.53 
 
145.1 x 100 = 14,510 
 
 8mm = ___ cm 
 
 
 Round to the nearest whole one: 
 5.3    12.9    151.4 
 
 Round to the nearest pound:  
 £2.80  £36.10   £165.40 
 
 Approximate by rounding to the 
nearest whole one: 
 24.3 + 8.5        6.8 x 9.1 
 
5.42  >  5.27 
 
Order these decimals: 
4.0   4.4   3.3  3.4   4.3 
8.17  7.88  7.78  8.07  7.77 
 
Challenge: 
3.7  3.07  3.17  0.73 
 
 
 























 

 

 

 

 

 

 


